R

S SR TPl 0 5 A 7 1

2 - 2

BAi, AL 5247 56 5TAEHEIE
R, BITEH100% BRAE S it Hdn
FATT, FFHRERZ RO RAERIEE 8 1E 558
BEaY%, RAESERBEDUR EAZH A
B, E5TREE & ADaket, AEZ,

HHEAR, X=A-b% (b%=>a%)

SR R 33X Foh O 1% B 0 K M AR SHE 45 SE AR
EfEa% U LM EABB LR % Xtfe. Hl,
M60% % HBIT0% 5 M90% %% J1 21100 % i 3
IR — R, MEARHERN10%, R
B, “EFEHABIBELEAFAK, BIMH
B EHEEN.

AABFRHELERER TR,

- HHAR

o b e .
X= e (b%h—a%®) « A

= HEAR
(. _(b—a) 2 | B
X= oS e A (<lamnngg
BREFERENBXSEANR,

Bl FAFMEZRAES XD %R, &

RO FHHRERKALTT EH M, 100% ERAE
SR B 105T, LA B F B AEFT70%,
J\B By iz EBAES90% . MR B EOTHE
T

RAFTE—

70 B _ _
X?Bw—m (10%—50%) x10==2.80(3C)

90

Too—g0 (0% —50%) x10==1.20(%L)

Xsap=

RAFEZ,

X7m8 45}==‘(%76°°‘T55°6))33x 10=1.60 (3E)

Xg 5'ﬁ=%x10=6.40 (%)

WHE—F FRERE20% M. EFHEEE (0%
H50%, 90%HT70%), EFHWK FF MHEn
7R [F] T 34 0 by e s S MR, BT E M2 . 807T,
JEHE N WA 4050, HE WA, FIEHN1.60
Jt, Ja# X34.807T,

W FERRINET . FE—TRELT
BN BE B B ), WP R L
FrEg B R B E TR, 4% B BAE100 % MHE
(100%#IESTREE) . FEZKEERT
BHRAETHSL GERBIZZiRER T EN
B TIREO

40040060090

I E—FpREI= SO FEE
R A K

Ak A PR RS T AR BE BT AR A A 7 AT
SR, KEBERBIES, XBEIERY 3
#o RMEVRRRELE, BITT—F “K
B R WS B REIE" GERME) - X
il W 3K A A T LA IR SR R R A DA B
EERFR RSB REE—KEL, 2
W, HRTREEK. BkE, YERR
7E B R BIFE B i B Eh R O A R4 R

. 19 °



	业务与技术
	介绍两种岗位责任津贴的计算方法




